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® Anuj 1s 5 years older than Barkha and 7 years younger than Chandan, while
Barkha and Dheeraj are twins. How many years older 1s Dhiraj than Chandan?

* TS ST Y 5 HISA 9T & SR T 8 7 °IeA DI &, SAelieh 0@l I &S S[gan
e © €S feha a1t a1ST 22

A.10
B. 14
C.18
D. 12




®* Mukesh 1s 40 years old and he 1s five times as old as his brother Rohit. When
Mukesh is thrice as old as Rohit, then the age of Mukesh is-

® Teh¥T 40 ETeT o1 & N I8 A WTE UTed § Wil THT ST 8| STl HeheT UTed | i T
SIS & Tl Hoh3T 36T 37 &-

A.44
B. 46
C.40
D. 48




* Rinke is thrice as old as Saroj. Four years ago, she was five times as old as

Saroj. How big is Rinki now?

o {GhT TSI © ofH 7T ST 8| TR TS U8, 978 |US] § i 1 St off| 37T ekl

[ENCICERY,

A.21
B. 12
C.24
D. 16



* There are tigers and birds in a zoo and counting their heads the number 1s 70
and their feet are 210. So find out how many birds are there?

o Uoh Tarfeamer o ame 31t fafed € 31t 3ok Tt bt fimrdt sht o s 70 8 3 39eh
U <hT TAT 210 BT &1 1 1 shitoTy foha Ferfear &2

A.37
B. 35
C.55
D.25




* A student solved thrice as many math problems correctly as he did wrong. If he
solved a total of 64 math problems, how many mistakes did he make?

» U foramelf 5 ST T1ioTd o w1 TTerdt forel Sed T el gt ford | i 3 e T1foTd ok
T 64 5 B Tohl, 1 38 Tohel TTeel foh 2

A.12
B. 16
C.14
D. 10




® There are 2100 students 1n a school. There is one class monitor for every 20
students. What 1s the number of monitors in the school?

* Te Thel H 2100 BTA 8| T 20 BTAT ok (1 T HaTT T Hi-1eL SIT &l Thed H
T hl 93T T -

A.85
B. 105
C. 100
D.75




® In a certain office, 1/3 of the workers are women, 1/2 of the women are married
and 1/3 of the married women have children. If 3/4 of the men are married and

2/3 of the married men have children, what fraction of the laborers are without
children?

* ok IS R U 1/3 HTHeh AieATE 8, 1/2 Afead faanfad § R foarted
Tfearsti § & 1/3 s= 81 AfS 3/4 Tov faanfea & oK foanfed goui # 2/3 & 5=<1 €,

N N =\ o N O
dl l-IWIdé:\I hl enid Al ol sieH| <h (9| %?

A.5/18
B.11/18
C.4/9
D.17/36




* In an examination, a student scores 4 marks for every correct answer and loses
1 mark for every wrong answer. If he attempts all the 60 questions and secures
130 marks, what will be the number of questions he gets right?

* Ueh GHT U, Teh BT Ycdoh Tl 30T oh 14 4 37eh TohIT hidT & 3T 8T ITeid 3 o
foTT 1 31k @1 <1 81 Afe a8 |t 60 =0T H TR AT & ST 130 ki T gUiard

AT 2, A1 39 o Tl T hl G741 BIT-

\‘/l ﬁi"w 2

A.35
B. 38
C.40
D.42




® Out of some apples, a man sold 1 apple more than half of the existing apples to
the first customer, 1/3rd more of the remaining apples to the second customer
and 1/5th more of the remaining apples to the third customer. Is . He finds that
he has 3 apples left. How many apples did he have originally?

*FTUIH, Q‘mraﬂaﬁﬁ HISST |l o 1Y | SATGT Hel Y&t UT8h okl sioidT @, W
S 1/3 | Teh STTeT g8l UTEeh ohl SF=IdT & ST Y U oh 1/5 W Toh ST 16l UTesh
AT | T T S o ST U 3 A9 9w el &9 H 38k ITH foh & 97

A.15
B. 18
C.20
D.25




* A group of 1200 persons including captain and soldier are traveling in a train. A
captain 1s included with every 15 soldiers of this group. Tell how many captains
are present in this group?

* 1200 SATHAT shT Teh HHE STEH HHTT IR Yk HINE & Forl ST H AT R T 2 | 3
HHE o Tcdoh 15 Hiehl o |1 Teh HHT M & | ST 3h1 6 THE H e fohel

A.85
B. 80
C.75
D.70




® A bus leaves from city A. The number of women 1in this bus 1s half of the
number of men. In city B, 10 men get down from the bus and 5 women get on
and thus the number of men and women 1n this bus becomes equal. Tell how
many riders were there in the beginning?

LB H SH H 10 T8 Ia ST 8 3R 5 I <0 STt & SN 6 ThR 56 o H ol
I ST shT E&AT TS &Y S & | AT 36T TR H et o=t i off?
A.15
B. 30
C.36

D.45




® An airplane covers a distance 1n 6 hours at a speed of 340 km/hr. At
what speed should he travel to cover that distance in 2 hours?

* Teh BAlTS STETST 340 Tohwi/EieT 3t TTid & Ueh gl ohl 6 i H o shtell 81 38 gl
ol 2 B H T T o foTq 39 Toeft 7Tfet o ST AT it g2

A.660
B. 700
C. 680
D. 1020




® Mrs. Lata was thrice as old as her son 8 years ago. Now the total age
of both of them 1s 64 years. How old 1s Mrs. Lata now?

* 2fTHcll AT oht 3T 8 Y Yol ST I shi ST h offA AT off| 377 AT bl
el 3H 64 |1 81 HTHdT AT ol 35 31 fohal 82

A.48
B. 12
C.36
D




* Dinesh and Ramesh start traveling together in opposite directions from a certain
point on a motor cycle. The speed of Dinesh is 60 kmph and the speed of
Ramesh 1s 44 kmph. What will be the distance between the two after 15

minutes? (SSC CGL TIER1)

 TeIT I THT AT wrgfehet T Ueh T2 T & forodie o o weh |rer I &
Ld &) o 3t i 60 Tepet Sifer wfaT & o THet <hl 7if 44 feeft S wler @1 15 fire

o QT &1 o 7y feherT gl B2

B.24
C.26
D.30

4
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* Two buses leave at a time from Delhi and Agra which are 300 km apart from
cach other. If their speeds are 38 kmph and 37 kmph, then after how much time

will both cross each other?

* 31 <6 Ueh T H feeetl 3R STRTT | =iefd! & S o gl @ 300 foreft g &) i Seht
i 38 Terdt Ufe sier 37 37 fondl ufd sier 2, aﬁ-—ﬁfﬁﬁwaﬁwa@ﬁw
A9

A.4
B.5
C.3
D.6




* The age of the mother 1s thrice the age of her daughter. Six years ago, the age of
the mother was five times that of the daughter. What was the age of the
daughter 6 years ago? SSC CGL (Tier-I)

* T <kl AT Ik Tt skl Y & 4 T 81 ©: TN T8, A sht Y T kT 31T @ ure
T oft) 6 9 TRt Pt shi ST =R eft?




